201211376 01 o) A A



P R

Index

* Problems

e Solutions

e~
o 27|



roblems

Test case identifier

Input Specification

Output

Specification

Pass / Fail

TEAMI1_CM_001_001

Bean = 100
Water = 1000
Command
Extract

Coffee Used
powder data

Spending time

Spending time
Fail

TEAM1_CM_001_003

Coffee Powder = on
Water = 1000

Command Extract

Coffee Used
powder data

Spending time

Spending time
Fail

TEAMI1_CM_0D02

Command Clean

Water — 500
Spending Time

Spending time
Fail

TEAM1_CM_008

Exit

Exit

Exit Fail
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